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QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Aafoyg oy & fr or feeut & @ uy R
(?) & TUEF W A aell FEA F AT

4657 gl ? |3

Options:
1) 32

2) 64
3) 34

4) 20
Correct Answer: 34
Candidate Answer: 34

QID: 102-
How many triangles are there in the given figure?
& og gl # fraa Mg €2

AN

Options:

1)5

2)4

3)3

4)6

Correct Answer: 5
Candidate Answer: 6
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 01, 65, etc., and ‘A’ can be represented by 44, 95, etc.
Similarly, you have to identify the set for the word “CAMP”.

U Qe had TH TEAT-UHE GRT GMAT I R, Sk 6 fawedt # @
el v e R fweul d {u s dwarwdg et & o it
grRr el arw ¥ Skar fF Bu o &) segpt & R megpl d ware 3R
ufs i Tear 0 | 4 ¥ 3R mgEnH 5 A 91 3T PR A T HaR
A g sEM dfd AR g # TaEw dEa gr)r gt Smoaddar B
3GIOT & AT ‘K @t 01, 65, 31Te gRT gt ST Fhar ¥ TAT ‘A’ D 44,
95, 3G gRT AT S Eahar ¥ W Re & Iud um F RU g
“CAMP” & faT @ep # ugaEar ¥

Matrix-1 Matrix-1l
-1 -l
0[1[2[3[4 5[6(7]8]9
0|V[K[D|[F|R 5(W[C[U[G]1
1[C[W[O[H[V 6|K[T|H[Q[S
21T | IY S 7|U[E[Y|B[A
3[H[F|[T1|C|R 8|F|H|P[L[N
4|D[S|[U[N[A 9 [A[R[M[T|O

Options:
1) 10, 44, 11, 41

2) 56, 97, 67, 43
3) 58, 44, 59, 87

4) 33,79,97, 87
Correct Answer: 33, 79, 97, 87
Candidate Answer: 33, 79, 97, 87

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R At F ¥ 3@ =W IeA A gAT
Sm & wy 3pfY BT 2

®
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Options:
1)

PN

2)

O

3)

AT
K

4)

Correct Answer:

PN

Candidate Answer:

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

Flg @ 39X FPla wH FPd F ulAwT @
FHLa?

=
A
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Options:
1)

T T

Correct Answer:

B

Candidate Answer:

B

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE U ZUT F AB T W T@ AT, ar & T
IR HGAAT A ¥ Al & 3pla ux gl &
e ufafasa Qefre

w
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Options:

1)
i |
V¢

=

2)

D
1

3)

©
v

4)

A
[ )

I
<J

g

>

g

>

QID: 10

7 -

Correct Answer:

@ A

Candidate Answer:

@ A
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A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

@ & oy FEadl A @ FGEAR FES @
AZHT Ded JUT Wield & a1 g fhd 3R HTHia
s e gam?

Al
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Options:
1)

N

w

»

D) 2| ] [P

Correct Answer:

>

0
o
3
=
a
o
-
o
>
5

swer:

P

QID: 108 - If ‘A" means '+', 'B' means '=', 'C' means '+' and 'D' means 'x’, then
7A11B13D3C39="?
i A F1 3 4, B T o =, ' T o e qur D T ok /Y, A

7A11B13D3C39=7?
Options:

1) 27

2)17

3)19

4) 32

Correct Answer: 17
Candidate Answer: 17

QID:109-1f13 % 7 + 4 = 16 and 14 % 6 + 3 = 17, then
23%7+2=?
I 13% 7 +4=16dU14% 6 + 3 =17, d

23% 7 +2=7?
Options:

1) 28

2) 32

3) 18

4) 20

Correct Answer: 28
Candidate Answer: 28
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Print
2. Prawn
3. Pager
4, Paste
5. Pain

T wree &1 eI & 319 I1d HH F R |

1. Print
2. Prawn
3. Pager
4. Paste
5. Pain

Options:
1) 35421

2) 34512

3) 45321

4) 43512

Correct Answer: 35421

Candidate Answer: 35421

QID : 111 - In the following question, select the missing number from the given series.
9,11, 20,31,51,?

fafafad uy # fou e fawedl & @ g sie F1d Hiforg)

9,11, 20, 31, 51, ?

Options:
1)91

2) 84
3) 76

4) 82
Correct Answer: 82
Candidate Answer: 82

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ACE, HIL, 0QS, ?
TS e H foar T B, o ¥ U ug g 31 fou T fawmedt & @ a8 9l fawed gAY, S sgwH & g &k

ACE, HIL, 0QS, ?

Options:
1) TVX

2) TUV
3) VXZ

4) UWY
Correct Answer: VXZ
Candidate Answer: VXZ

QID : 113 - In the following question, select the odd word from the given alternatives.

frafafed uy § 3T U fawed! & ¥ fawy w1sg &1 gful
Options:

1) Water

od

2) Glass

e

3) Coffee
BIDT

4) Tea
g

Download More Paper8)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Correct Answer: Glass

Candidate Answer: Glass

QID : 114 - In the following question, select the odd number pair from the given alternatives.

frafared oy § f3u e fawedl & 9 vy T gm & gl
Options:

1) 14 - 2744

2) 18 - 5832

3) 10 - 10000

4) 19 - 6859

Correct Answer: 10 — 10000
Candidate Answer: 10 — 10000

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafafed vy o fow e fawedt § § fawe siert &1 gful
Options:

1) ABC

2) MNO

3) RST

4) PQM

Correct Answer: PQM

Candidate Answer: PQM

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Currency, Dollar, Pound
Tg R Y o i feu U i & fiw F Fey &1 9t U BRar g

Options:
1)

2

3

— I —

®

4

o

Correct Answer:
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Candidate Answer:

QID : 117 - In the following question, select the related word from the given alternatives.
Palette : Colours : : Report card : ?

Frafefed oy ¥ faw ¢ fasedl & 9 H6iT 2 &1 g

Tae: w:: R e 2

Options:

1) Marks

3

2) Syllabus

qradashH

3) Homework

4) Attendance

Correct Answer: Marks
3fh

Candidate Answer: Marks
3

QID : 118 - In the following question, select the related number from the given alternatives.
83:9::146:7?

frafafed uy # fiu U fawedl # § Heftg Wem ot gl

83:9::146:7?

Options:

1) 12

2) 14

3) 10

4)7
Correct Answer: 12
Candidate Answer: 12

QID : 119 - In the following question, select the related letters from the given alternatives.
PM:LI::BY:?

froafeiad uy # fau 7 fowed! & § H&fia et 1 giu

PM:LI::BY:?

Options:

1) Wv

2) XU

3) XV

4) WU
Correct Answer: XU
Candidate Answer: XU

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
UNEXCITABLE
frafafed fawedl & 3 98 Weg gL ST AT U X1sg & 31&RT BT TR $Rb el 91 off gavdll|

UNEXCITABLE
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Options:
1) BLADE

2) EXIT
3) BITE

4) TABLE
Correct Answer: BLADE
Candidate Answer: BLADE

QID : 121 - Weight of W is twice that of X. Weight of X is 1/3 of Y. Weight of Y is 3 times of Z. Weight of Z is 1/4 of A. Who is the heaviest?

W BT HR X BT R X BTHR Y BT 1/3 B Y BT HR Z BT 3 T 81 Z BT UR A BT 1/4 T T YR 19 22
Options:
1)A

2)W
3)Y

4) X
Correct Answer: A
Candidate Answer: W

QID:122-W, X, Y, Zand A are sitting in a line facing west. W and X are sitting together. Y is sitting at south end and Z is sitting at north end. A is neighbour of X
and Z. Who is sitting in the middle?

%v&xéY,zamAwdﬁﬁu@ﬂﬁah?wWé%%lWaanxwmué%%’lY?{F&M@ﬁwﬁa%?{mzmiﬁvwé’a%lA,xamzmqsﬁﬁ%mmﬁﬁ:{
?

Options:
1)A

2)z
3) X

49w
Correct Answer: X
Candidate Answer: X

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All kites are red.
II. No red is blue.

Conclusions:
1. Some kite are blue.
II. No kite is blue.

Tt T T 7y H T© HUF 3R I a1 I B R NURA o ey AU 7T €, gTerifes IT8 T I1d a2t ¥ e 81 geat o | 9 s o ok bR Meifa
R o f3u MU o1 ¥ s, 3T T Hu= & R W gfaad g

DY:
1. gt G ot B
I1. Y ard e 78 21

frep:

1. O ot Feh 1

I1. HI3 g el 7 1
Options:

1) Only conclusion (I) follows.
Padl ey (1) Tel 21

2) Only conclusion (II) follows.
Paa Fsed (11) I8 21

3) Both conclusion follow.

a1 g ey wgl B

4) Neither conclusion (I) nor conclusion (II) follows.

F @ e (1) 7 € e (11) TE R
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Correct Answer: Only conclusion (II) follows.
Faa feed (1) W€t B

Candidate Answer: Only conclusion (II) follows.

Faa ey (11) I R

QID : 124 - In a certain code language, "HATCH" is written as "JXVZJ". How is "SEDAN" written in that code language?

TS Ay HIs U9 H, "HATCH" &1 "IXV23" forRaT ST 81 39 $I's HTW & "SEDAN" &1 fhg UR forar Smewm?
Options:
1) UBFXP

2) CVFYP
3) FXPVB

4) HYWzZM
Correct Answer: UBFXP
Candidate Answer: UBFXP

QID : 125 - In a certain code language, "VIRGE" is written as "19635" and "LOAD" is written as "7480". How is "GLOVE" written in that code language?

o fIRY IS WIS H, "VIRGE" &) "19635" IUT "LOAD" &) "7480" Rl ST 1 39 HI's HINT H "GLOVE" %! fbg UHR forar e
Options:
1) 37415

2) 34175
3) 56437

4) 96035
Correct Answer: 37415
Candidate Answer: 37415

QID : 126 - If 101 x 102 x 103 is divided by 10, then what will be the remainder?

Tfg 101 x 102 x 103 HT 10 F faUTRIT fovan o, f Awwa F1 grmme
Options:

1)5

2)6

3)4

4)8

Correct Answer: 6

Candidate Answer: 6

QID : 127 - What is the value of 249 x 251?

249 x 251 &1 T &1 82
Options:
1) 64599

2) 62099
3) 62499

4) 64499
Correct Answer: 62499
Candidate Answer: 62499

QID : 128 - What is the value of [(5.3)3 - (3.8)3]+ [(5.3)% + (3.8)2 + (5.3) x (3.8)]?

[(5.3)3 - (3.8)3]% [(5.3)2 + (3.8)2 + (5.3) x (3.8)] T A T &2
Options:

1) 2.25

2)2.7

3)1.3

4)15

Correct Answer: 1.5
Candidate Answer: 1.5
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QID : 129 - Which of the following statement is true?

L. 4V3 > 3v2
II. 3V2 > 6V5

fFreffed 8  F 91 oy ¥ 87

L. 4V3 > 3v2
1I. 3V2 > 6V5
Options:

1) Only I
Fad I

2) Only II

FHad 11

3) Both I and II
1991 11 S

4) Neither I nor II
FAIAGI

Correct Answer: Only I

Fad I

Candidate Answer: Only I
Had I

QID : 130 - If 84B78 is divisible by 11 then, what is the value of B?

Ife 84B78, 11 I favfor B, O B &1 AH |1 32
Options:

1) 4

2)6

3)3

4)1

Correct Answer: 6

Candidate Answer: 6

QID : 131 - What is the value of 22 + 42 + 62 + ....... 20%?

2+424+62+ ... 202 BT A T 8?
Options:

1) 1470

2) 1630

3) 1820

4) 1540
Correct Answer: 1540
Candidate Answer: 1540

QID: 132 - A, B and C undertook a work for Rs 26000. Together A and B complete (9/13)th part of the work. What is the share (in Rs) of C?

A, BTUT C A TP B oY 26000 T H foran| A T B fidiex & &1 (9/13)-af fowl T axd B1 € &1 iRw (3 H) 7 82
Options:

1) 10000

2) 8000

3) 12000

4) 7000

Correct Answer: 8000
Candidate Answer: 8000

QID : 133 - Three taps A, B and C can fill a tank in 90, 10 and 18 hours respectively. If all the taps are opened together, then in how many hours will the tank be
filled?

I 7T A, B TUT C T Th! I HHT: 90, 10 T 18 T2 H R Ioba | TS it 7ail 1 Uep Ty Wi faon o, i <o oo & & WR SIwei?

Options:
1)4

2)6
3)8

4)2
Correct Answer: 6
Candidate Answer: 6
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QID : 134 - The length of two parallel sides of a trapezium are 40 cm and 50 cm. If the area of the trapezium is 180 cm?, then what is the value of its height (in
cm)?

T T BT & JHAR Yol 3T awars 40 .. qur 50 9.0, B1 afe IHa o1 &awa 180 9.2 B, A IU HAE &1 AF (., ) |2
Options:

1)6

2)4

3)2

4)8

Correct Answer: 4

Candidate Answer: 4

QID : 135 - The cost price of an article is 81% of the marked price. What is the gain percentage after allowing a discount of 10% on the marked price?
foredt avg &1 0 Yo ITF Sifhd T BT 81% B Hferd Te TR 10% Bt e 3 & T ATy Uf=Td 37 82

Options:

1) 11.11

2)9.09

3) 125

4)7.5
Correct Answer: 11.11
Candidate Answer: 11.11

QID : 136 - A trader gives a discount of 15% on the marked price. To earn profit of 19%, by how much percent should he mark the price of his goods higher than
its cost price?

TF IR Sifehd G W 15% B e a1 81 19% BT ATH U B P 11T 3§ o+t axgil o1 Ged, 60 G @ fove ufawra sif¥es sifdsa sxnm anfge?
Options:
1) 25

2) 40
3)30

4) 35
Correct Answer: 40
Candidate Answer: 40

QID:137-IfM:N=3:5andM:0 =4:6, then whatis (M + N) : (N + 0)?
tlﬁM:N=3:5?I'<’4TM:0=4:6@,?ﬁ(M+N):(N+O)W%?

Options:

1)19:15

2)16:19

3)15:19

4)25:16
Correct Answer: 16 : 19
Candidate Answer: 16 : 19

QID : 138 - If the sum of two numbers is equal to two times of their difference, then what is the ratio of the numbers?

afe 3 Gerah o1 AT S R BT ST 8, Y TR BT ST T 82
Options:
1)4:3

2)1:2
3)3:5

4)3:1
Correct Answer: 3 : 1
Candidate Answer: 3: 1
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QID : 139 - Average of 19 numbers is 15. If a number 25 is also included, then what will be the average of these 20 numbers?

19 T &1 3d 15 §1 IS T Team 25 1 i wnfiye o= foran S, Y 377 20 TReamait & Siyd o gem?
Options:
1) 145

2) 16.5
3) 155

4)17.5
Correct Answer: 15.5
Candidate Answer: 15.5

QID : 140 - An article was sold at 15% gain. Had it been sold for Rs 195 more, then the gain would have been 30%. What is the cost price (in Rs) of the article?

TP T BT 15% TTH TR I971 7471 (S 5/ 195 T s Yo R §1 S, T 30% BT A1H BT | TG BT 63 I (3 H) 7132

Options:
1) 1100
2) 2200
3) 1300
4) 1950

Correct Answer: 1300
Candidate Answer: 1300
QID : 141 - A man buys a toy for Rs 40 and sells it for Rs 60. What is his gain percent?

U AT T RN 40 T H Wl § a1 39 60 T H S<al 31 IGHT drH ufawrd &1 872
Options:
1) 30

2) 50
3)75

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 142 - A man saves 12% of his income in 6 months. If he wants to save the same amount in 4 months, then by how much percentage should he increase his
monthly savings?

e AT 6 TEH § (U 31T BT 12% ST 81 fe; 98 It &t AR 4 AL & a1 =redl 8, O S 3101 J1iie s=rd foban ufawid ¥ 9gH! =nfee?
Options:
1) 33.33

2) 50
3) 66.66

4) 25
Correct Answer: 50
Candidate Answer: 33.33

QID : 143 - J is 10% more than K. K is 10% less than L. L is 10% less than M. If M is 2000, then what is the value of J?
3, KY10% 3RS BRI K, LY 10% HH I L, M ¥ 10% HH T TS M, 2000 B, Y J ST A 1 82

Options:

1) 1844

2) 1806

3) 1782

4) 1756
Correct Answer: 1782
Candidate Answer: 1782

QID : 144 - A train running with a speed of 3 km/hr, crosses a telephone pole. If the length of train is 900 meters, then what is the time taken (in seconds) by the
train to cross the pole?

%%mrﬁ./‘mﬁnﬁﬁaﬂﬁaﬁﬁiﬁm@wéﬁqﬂq$maﬁmm% i Yot Pt aETs 900 Hiex €, Al YS! T &l UR B4 | fha IHg (YwTs H)
?
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1000
2) 1080
3) 1020

4) 900
Correct Answer: 1080
Candidate Answer: 1080

QID : 145 - A 950 meters long train crosses a 850 meters long bridge. If the speed of train is 60 km/hr, then what is the time taken (in seconds) to cross the
bridge?

T 950 iR Tl YIS, T 850 Hier el G UR SRt ¥ Al YAl &1 1 60 fob. 2. /8w 8, O Oo UR o= B b I9a ([pvs H) ferar ma 72
Options:
1) 120

2) 108
3) 115

4) 102
Correct Answer: 108
Candidate Answer: 108

QID : 146 - What is the sum (in Rs) of money which became Rs 17545 at the rate of 10% per annum at compound interest in two years?

T8 YRITT (T ) T 8 SN & IS o 10% T I =a7of &3 ¥ TIehdie &S] WR 17545 T 1 152
Options:
1) 14500

2) 13800
3) 12800

4) 15200
Correct Answer: 14500
Candidate Answer: 14500
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QID: 147 -
The line chart given below shows the number of tourists
(in 000’) in Mumbai and Amritsar.

@ Ru om X R # FgFes qur Fgaw # udea
& g (000° #) @Y AT ITAT T

=— Mumbai / 33?-7,1% —&- Amritsar / HFIET
= e 250 5
gk 200
£ 8 200-
(=]
w S’
B E 150 -
- T 120
s & 100 119 98 100
EE 50 1 78
=
= 0 . .
4 o o o ™ - e}
o o o o o o
o (e ] o o o o
N N N N N N
Year / a§

What is the maximum difference (in 000") between the number of tourists in Mumbai and Amritsar for any year?
He quT AR ¥ fopedt oft 9 & o wfea! &t o & Hen Sifidad $iaR (000" H) T 82

Options:

1) 68

2)52

3) 100

4) 80
Correct Answer: 80
Candidate Answer: 80
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QID : 148 -
The line chart given below shows the number of tourists
(in 000’) in Mumbai and Amritsar.

@ Ru om X R # FgFes qur Fgaw # udea
& g (000° #) @Y AT ITAT T

=— Mumbai / 33?-7,1% —&- Amritsar / HFIET
= e 250 5
gk 200
£ 8 200-
(=]
w S’
B E 150 -
- T 120
s & 100 119 98 100
EE 50 1 78
=
= 0 . .
4 o o o ™ - e}
o o o o o o
o (e ] o o o o
N N N N N N
Year / a§

What is the percentage change in the number of tourists in Mumbai from year 2003 to year 2004?

a9 2003 I af 2004 7% 4o & T @t T B ufowrd uRad= #7182

Options:
1) 25

2) 20
3) 16

4) 68
Correct Answer: 20
Candidate Answer: 20
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QID : 149 -
The line chart given below shows the number of tourists
(in 000’) in Mumbai and Amritsar.

@ Ru om X R # FgFes qur Fgaw # udea
& g (000° #) @Y AT ITAT T

=— Mumbai / 33?-7,1% —&- Amritsar / HFIET
= e 250 5
gk 200
£ 8 200-
(=]
w S’
B E 150 -
- T 120
s & 100 119 98 100
EE 50 1 78
=
= 0 - - :
4 o o o ™ - e}
o o o o o o
o (e ] o o o o
N N N N N N
Year / a§

The number of tourists in Amritsar in year 2005 is what percent of the number of tourists in Mumbai in year 2001?
a9 2005 & 3R B et ot wam av 2001 B Gas § Wed! &t WReAm o1 fad=n ufa=rd 82

Options:

1) 75

2) 80

3) 120

4)70
Correct Answer: 80
Candidate Answer: 120
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QID : 150 -
The line chart given below shows the number of tourists
(in 000’) in Mumbai and Amritsar.

@ Ru om X R & FgFes qur dFgaw # gdes
& g=ar (000’ #) @Y AT ITAT T

—— Mumbai / Fa% = Amritsar / AT

= e 250 5

gk 200

£ 8 200 1

R —)

w S

% E 150

'g'E 100

s 6

EE 50 A

=

= 0 - - . - - —

= o o o ™ <+ 7o)
o o o o o o
o o o o o o
N N N N N N

Year / a§

What is the average number (in 000") of tourist in Mumbai from year 2000 to year 2004?

9 2000 ¥ T 2004 I Hag & wded! B 3T TeAT (000" H) FT 72
Options:
1) 150

2) 146
3) 168

4) 172
Correct Answer: 146
Candidate Answer: 146

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The Justice Minister urged lawmakers (1)/ to back the bill and says that the (2)/ government would listen to the concerns (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The opposition Party had called to its (1)/ lawmakers to vote against the bill (2)/ if the government failed to make concessions (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 1
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Power yoga is exercise to reduce the belly fat.

Options:

1) a best

2) the best

3) one of the best
4) an best

Correct Answer: the best
Candidate Answer: the best

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Megha has an for music.

Options:
1) attitude

2) intuition
3) aptitude

4) imagination
Correct Answer: aptitude
Candidate Answer: aptitude

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Panorama

Options:

1) Scene

2) Hide

3) Conquer

4) Rise
Correct Answer: Scene
Candidate Answer: Conquer

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Peculiar

Options:

1) Normal

2) Regular

3) Usual

4) Strange
Correct Answer: Strange
Candidate Answer: Strange

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Realm

Options:

1) Chubby

2) Field

3) Treason

4) Copy
Correct Answer: Field
Candidate Answer: Field

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Unforeseen
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Options:
1) Surprising

2) Accidental
3) Expected

4) Sudden
Correct Answer: Expected
Candidate Answer: Expected

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Include

Options:
1) Admit

2) Build
3) Comprise

4) Reject
Correct Answer: Reject
Candidate Answer: Reject

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Overt

Options:

1) Clear

2) Open

3) Hidden

4) Visible
Correct Answer: Hidden
Candidate Answer: Open

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Over head and ears

Options:

1) Very loud

2) Very excited

3) Completely trapped

4) Very angry
Correct Answer: Completely trapped
Candidate Answer: Very loud

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Giving a piece of one’s mind

Options:

1) To flatter someone

2) To express oneself

3) To rebuke someone

4) To encourage someone
Correct Answer: To rebuke someone
Candidate Answer: To express oneself

QID : 163 - Improve the bracketed part of the sentence.

Residents (says) the firing lasted just around 10 minutes, indicating at a well-planned trap.
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Options:
1)psa?d ®
2) tells
3) complains
4) No Improvement
Correct Answer: said

Candidate Answer: said

QID : 164 - Improve the bracketed part of the sentence.

“Militant leadership (are to be) eliminated because they also misguide our children and lure them into this,” said Inspector General of Police.
Options:
1) has to be

2) were to be
3) would have be

4) No Improvement
Correct Answer: has to be
Candidate Answer: has to be

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One for whom money is the most important thing
Options:
1) Materialistic

2) Divine
3) Disciple

4) Extravagant
Correct Answer: Materialistic
Candidate Answer: Materialistic

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who hates reasoning

Options:
1) Misologist

2) Abortionist
3) Destructionalist

4) Prohibitionist
Correct Answer: Misologist
Candidate Answer: Misologist

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Chocolact

2) Choclate
3) Chokelate

4) Chocolate
Correct Answer: Chocolate
Candidate Answer: Chocolate

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Commentory

2) Comentary
3) Commentary

4) Comenttary
Correct Answer: Commentary
Candidate Answer: Commentary
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QID : 169 - Rearrange the parts of the sentence in correct order.

An equitable distribution of

P: for a sustained quality

Q: of life and global peace

R: resources has become essential

Options:
1) RPQ

2) QRP
3) PQR

4) RQP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 170 - Rearrange the parts of the sentence in correct order.

Ploughing along the
P: contour lines can
Q: water down the slopes
R: decelerate the flow of

Options:
1) PRQ

2) QPR
3) RQP

4) QRP
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to

the utmost. School buildings must be thrown for the illiterate adults in the evening.

where even now about fifty percent people are
Options:

1) illiterate

2) educated

3) literate

4) experienced

Correct Answer: illiterate

Candidate Answer: illiterate

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

country must be mobilized to wage a against

Options:

1) support

2) war

3) ceasefire

4) truce

Correct Answer: war
Candidate Answer: war
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QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to

the utmost. School buildings must be thrown for the illiterate adults in the evening.

There should be a for students,
Options:

1) optional

2) easy

3) compulsion

4) temporary

Correct Answer: compulsion

Candidate Answer: compulsion

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

personnel must be to the utmost.

Options:

1) halt

2) stop

3) demobilize

4) mobilized

Correct Answer: mobilized
Candidate Answer: mobilized

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

be thrown for the illiterate adults
Options:

1) open
2) close

3) shut

4) fold
Correct Answer: open
Candidate Answer: open

QID : 176 - Generally people engaged in which activity face seasonal and disguised unemployment?

T IR R o nfafaf & o o Al gur st SRSTRY 1 I R 72
Options:

1) Service

gfaur

2) Agriculture

3) Manufacturing

4) Construction
Correct Answer: Agriculture

Candidate Answer: Agriculture
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QID : 177 - Increase in unemployment indicates which type of economy?

R & 93 T 5T UHR B} rfogawn &) Ydhfas FHRar g2
Options:

1) Healthy

Wy

2) Depressed

3{a-d

3) Developed

fasfia

4) Stagnant
RR

Correct Answer: Depressed
3{a-d

Candidate Answer: Depressed
3{a-d

QID : 178 - Directive principles of state policy in Indian constitution has been taken from which country's constitution?

YRl dfaem & s Hifa & Fdze Rigidl o foa 3w & dfaum 3 fora ma 82

Options:

1) Irish constitution
wfaem

2) US constitution
wfaem

3) British constitution

fafewr dfaem

4) Australian constitution

e BICIE]

Correct Answer: Irish constitution

e

Candidate Answer: Irish constitution

ST Hfau™
QID : 179 - Under which article supreme court of India issues writs?

5T A & dgd HRA $ il T ST SR B 87
Options:
1) Article 20

TG 20

2) Article 56
56

3) Article 68

TG 68

4) Article 32

TG 32

Correct Answer: Article 32
32

Candidate Answer: Article 32

TG 32

QID : 180 - Which among the following was NOT a Chinese pilgrim to India?

e & 9 o URa B te I difash 8 are
Options:

1) Al-Biruni

Sfe-foret

2) Fa-hien

5) Xuan Zang
I F

4) I.-Sing

Correct Answer: Al-Biruni
f-foet

Candidate Answer: Xuan Zang
e T

QID : 181 - What was Akbar's age when he became emperor?

TUIE §9- HUHT 3fHaR BT 3T =aT &2
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Options:
Do
2)13
3) 15
4) 17
Correct Answer: 13
Candidate Answer: 13

QID : 182 - The Earth rotates by what degree in four minutes?

gt TR forfe & fpaa oiw go St 82
Options:

1) 4°

2) 10°

3) 36°

4)1°

Correct Answer: 1°

Candidate Answer: 1°

QID : 183 - Which strait connects Arctic Ocean with the Pacific Ocean?

DI I STy 3MTdhfes TERITR &1 Ui HeMIR ¥ Sisd! 8?
Options:
1) Gibraltor $trait

2) Dover Strait
3) Berring Strait
ST Sty

4) Sunda Strait
Y1 ey
Correct Answer: Berring Strait

EIFURTRID]

Candidate Answer: Gibraltor Strait

QID : 184 - Bowman's capsules are found in

I pgw H U1e o €
Options:

1) Kidney of mammals

TeTREr B et

2) Heart of mammals

A &1 fda

3) Liver of mammals

TRal & R

4) Cerebellum of rabbit

TR B

Correct Answer: Kidney of mammals
TeTiRal @) et
Candidate Answer: Liver of mammals

TR & foTR
QID : 185 - The maximum possible volume of air, which can be inhaled by humans, is called as

T BT S Hua 7, 8 ST gR1 9re H forn o b 8, Bt T Sl B
Options:
1) Inspirations capacity
TR &
2) Vital lung capacity
S B &l
3) Residual volume
a1y T
4) Total lung capacity
$A Bths B &l
Correct Answer: Total lung capacity
T BHS B &l
Candidate Answer: Vital lung capacity

@yl WS BT &Tar
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QID : 186 - What is broad, green part of leaf called?

TRt & TU B W ) T Hgd 87
Options:

1) Base

ad

2) Top

qde

3) Petiole

4) Lamina
T

Correct Answer: Lamina
Tl

Candidate Answer: Lamina
Hddh

QID : 187 - The SI unit of density is .

e BT T, 3. SHIS gl

Options:
1) kg m3

2)gcm3
3) kg2

4)g m?3

Correct Answer: kg m™3

Candidate Answer: kg m-3

QID : 188 - When an object is lifted vertically upwards from ground, then its .
I T 9xg ! ad J HeT IR B 3R IS oIl 7, a9 I [
Options:

1) potential energy decreases

2) potential energy increases

3) potential energy remains same

fRufae Seif Tar Bt 8

4) none of the§e

T Y B TR

Correct Answer: potential energy increases

RIS Soff gt &

Candidate Answer: potential energy increases

fRufcrst St st @

QID : 189 - What is the process of transferring files from internet to computer memory called?
g ¥ SR AAR H WIEE! Bl RIMART B B1 Uihar a1 82

Options:

1) Uploading

SOATET

2) Downloading

3 3 E 3.

3) Bookmarking

4) Hyperlinking

ISR

Correct Answer: Downloading

Candidate Answer: Downloading

QID : 190 - Which of the following are isomers?

Fofafad § 3 o9 3 garead) 82

Download More Paper&’From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
Options:
1) Ethane and Propane
BRI
2) Methane & Methene
T qur diefi=
3) Propane & Propene
IO a1 T
4) Butane and Isobutane
A aur
Correct Answer: Butane and Isobutane
S U G
Candidate Answer: Butane and Isobutane
e T

QID : 191 - The substance that looses electrons is called

ATl BT W ATl Terf e gl
Options:
11 oxidizing agent

2) reducing agent
U D HRD
3) catalyst
IS

4) None of these

3T 9 BIE T

Correct Answer: reducing agent
A D HRD

Candidate Answer: oxidizing agent

QID : 192 - Food web is a system of interlocking and interdependent

WY 3T TS T T gaR W R TP JUTeh 82
Options:

1) food cycles

QT AT

2) Food chains

TR st

3) Food system

QT yonferdt

4) None of these

TH A P TaT

Correct Answer: Food chains
QT graanait

Candidate Answer: Food chains

TTe et
QID : 193 - What is the aim of Pandit Deendayal Upadhyay Unnat Krishi Shiksha Scheme?

tfed diHeara SuTera Iad B e A1 &1 ST T 82
Options:

1) To promote agricultural productivity

P IATCH HI Fgrar o F forg

2) To promote agricultural health

P WY HT gg1a1 &1 P oy

3) To promote agricultural education

Y Rigf bt Sgrar & o ey

4) None of these

T A DI TeT

Correct Answer: To promote agricultural education

P fen &1 ggrar & F faw

Candidate Answer: To promote agricultural education

P Rrem &1 Fgrar 37 & faw

QID : 194 - Which of the following is NOT correctly paired?

frofafea o 3 o9 o g 9el T8 82
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Options:
1) E. Torricelli — Barometer

2) Neutron — James Chadwick

Y - I ArSfad

3) Penicillin — F. Banting
- T Sfem

4) Revolver — Samuel Colt

M @HG{FI

Correct Answer: Penicillin — F. Banting

Ufffer - uw. afen

Candidate Answer: Penicillin — F. Banting
- . aféT

QID : 195 - 'Ring' is the place where is played.

T a8 e § Sfef T ST
Options:

1) Boxing

2) Cricket

forare

3) Fgotball

4) Skating

ThIST

Correct Answer: Boxing

Candidate Answer: Boxing

QID : 196 - Alahi Darwaja is a to the enclosure of Quwat-Ul-Islam mosque at Delhi.

TS aRaTeT el U Foad-Ia-3%am Aike & R & e U |
Options:

1) Gateway

TR §R

2) Minaret

3) Dome

s

4) Arch
3

Correct Answer: Gateway
Ta% §R

Candidate Answer: Minaret

QID : 197 - Shankha Ghosh has won which award for the year 2016?

a9 2016 & foTw *RT 9T A B W REBR ofdl 82
Options:
1) Dronacharya

2) Arjun

3) Jnanpith
EIEEIR]

4) Nobel
BIEK

Correct Answer: Jnanpith

Candidate Answer: Jnanpith

QID : 198 - Who is the author of the book named "Out of My Comfort Zone"?

"3TIT HTH HTE HHE A" ATHS JHD & AQP DI 82
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Options:
1) Sachin Tendulkar
i d

2) Steve Waugh

wia af

3) Harbhajan Singh

& Rig

4) Sunil Gavaskar

LGN RICES

Correct Answer: Steve Waugh
wa af

Candidate Answer: Steve Waugh

g ar

QID : 199 - India became the first non-member of the Treaty of non-proliferation of Nuclear weapons (NPT) to have signed civilian nuclear deal with which country?

9 3 F 1Y YR 380 TRATY HRR TR FEATER PR 1A YUH TRATY] SRAR SR I (T4.9.E.) $7 IR Jexa =1 4 711 32
Options:

1) Japan

ST

2) Nepal

Jure

3) Pakistan

4) Indonesia

Correct Answer: Japan
ST

Candidate Answer: Japan
SIar

QID : 200 - Bagan city, the world’s largest and densest concentration of Buddhist temples, pagodas, stupas and ruins is situated in which country?

AT TR, 3y & god) o qut 3if¥ier sl HifeR, wriel, WU quT Teer fbg 2w F fRya B2
Options:

1) Myanmar

AR

2) Bangladesh

3) Bhutan
4) Sri Lanka
PIRE

Correct Answer: Myanmar
HHR

Candidate Answer: Myanmar
AR
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